
•5-41. The A-36 steel tubular shaft is 2 m long and has an 
outer diameter of 50 mm. When it is rotating at 40 rad/s, it 
transmits 25 kW of power from the motor M to the pump P. 
Determine the smallest thickness of the tube if the allowable 
shear stress is Tallow 80 MPa. 
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NOTE:
The solution provided in this document 
is the intellectual property of Civil 
Thinking and is protected by copyright. 
Any reproduction, distribution, or 
publication of this content, in whole or 
in part, is strictly prohibited without 
prior written permission from 
https://civilthinking.com.

   Question Bank Page 2    



Let us help you solve your engineering challenges! 🚀

   Question Bank Page 3    


